
S6 Fig. Relationships between baseline body weight, heart rate and echocardiographic 
measures 
(A) Relationships between echocardiographic measures and baseline body weight. BBW represents 
baseline body weight. Each data point represents a mouse strain.  

Baseline    Week 1       Week 2     Week 3 
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S6 Fig. Relationships between baseline body weight, heart rate and echocardiographic 
measures 
(B) Relationships between echocardiographic measures and heart rate at corresponding time points. 
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S6 Fig. Relationships between baseline body weight, heart rate and echocardiographic 
measures 
(C) Relationships between heart rates across time points. HR represents heart rate. Each data point 
represents a mouse strain.  
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